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M U L TI P L E C H O I C E . C h o o se t h e o n e a l t e r n a t i v e t h a t b e st co mp l e t e s t h e st a t e me n 

t o r a n sw e r s t h e q u e st i o n . 
 

 

1 ) B y e xa mining t he la st dig it o f 3 , 4 5 5 o nly, w hich numb e r is it divisib le b y? 1 ) 

A)5         B)4       C)9      D)6 
 

 

2 ) 6 , 9 , a nd 1 8 a re a ll mult ip le s o f w hich numb e r? 

A)2      B)6      C)3      D)972 
 

3 ) B y o nly e xa mining t he la st t w o dig it s o f 6 , 3 8 0 , w hich numb e r is it divisib le 

by? A ) 9 B ) 4     C ) 2     D ) 8 
 
 

4 ) W hich rule g ua ra nt e e s 9 2 7 is divisib le b y 3 ? 4 ) A ) T he la st dig it is e ve n a nd 

2 4 is divisib le b y 6 . 

B ) T he la st dig it is e ve n a nd t he sum o f t he dig it s is divisib le b y 3 . 

C ) T he la st t w o dig it s a re e ve n. 

D ) T he sum o f t he dig it s is divisib le b y 3 . 
 

 
 

5 ) W hich b a sic a rit hme t ic o p e ra t io n is imp lie d w he n yo u use t he w o rd " 
f a ct o r" ? 5 ) A ) Sub t ra ct io n B ) A ddit io n 

C ) D ivisio n D ) Mult ip lica t io n 
 

 
 

6 ) W hich rule g ua ra nt e e s 4 , 1 5 0 is divisib le b y 5 ? 6 ) A ) A t le a st t w o o f t 
he dig it s a re e ve n. 

B ) T he re a re t w o co nse cut ive dig it s t ha t a re divisib le b y 8 . 

C ) T he la st t hre e dig it s f o rm a numb e r divisib le b y 5 . 

D ) T he la st dig it is a z e ro .
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7 ) 1 4 0 is divisib le b y w hich t w o numb e rs? 7 ) A ) 5 a nd 3 B ) 2 a nd 7 C ) 2 a nd 9 D ) 1



0 a nd 8 
 

1



2  

8 ) I de nt if y t he list t ha t is a list o f mult ip le s o f 2 5 . 8 ) A ) 2 5 , 5 0 , 7 5 , 1 4 0 , 1 7 5 

B )25,75,125,155,175 

C)25,50,100,270,400D)25,50,75,100,125 
 

 

9 ) 3 , 6 , a nd 9 a re mult ip le s o f w hich numb e r? 9 ) A ) 9 B ) 2 C ) 3 D ) 6 
 

1 0 ) W hich o f t he f o llo w ing numb e rs is a co mp o sit e numb e r?                              1 0 ) 

A)61B)34C)47D)53 
 

1 1 ) W hich is a list o f t he f a ct o rs o f 2   1 ?                                                                         1 1 ) 

A)3,6,9,12,15,18B)1,3,7,21 

C)1,2,3,6,9,18D)2,4,6,8,10,12,14,16,18



3  

1 2 ) 1 a nd 3 0 , 2 a nd 1 5 , 3 a nd 1 0 , a nd 5 a nd 6 a re a ll f a ct o r p a irs o f w 
hich numb e r? 

A)3B)131,056C)60D)30 
 

 

1 3 ) W hich o f t he f o llo w ing is no t a f a ct o r o f 3 4 8 ? 

A)34B)4C)8D)2 
 

1 4 ) W hich list co nt a ins a ll t he f a ct o r p a irs o f 3 6 ? 

A)1(36),2(18),4(9)B)1(36),6(6) 

C)1(36),2(18),3(12),4(9),6(6)D)1(36),2(18),3(1 

2),6(6) 
 

1 5 ) 1 5 is no t a p rime numb e r b e 

ca use 

A ) it s f a ct o r p a irs a re 3 ×5 . 

B ) it ha s 1 a s a f a ct o r. 

C ) it s f a ct o r p a irs a re 1 ×1 5 , 3 ×5 . 
 

D ) 1 5 is no t divisib le b y a ny numb e r e xce p t 1 a 
nd it se lf . 

 

1 6 ) W hich o f t he f o llo w ing is a p rime numb e r? 

A)55B)29C)39D)42 
 

 

1 7 ) L ist t he f a ct o r p a irs o f 3 6 a nd w rit e a ll t he f a ct o rs in o rde r f 

ro m sma lle st t o la rg e st . 

A)1×36,6×6;1,6,36 

B)1×36;1,2,3,4,6,9,12,18,36 

C)1×36,2×18,3×12,4×9,6×6;1,2,3,4,6,9,12,18,36 

D)1×36,3×12,6×6 
 

1 8 ) F ind t he p rime f a ct o riz a t io n o f 7 2 . 

A)1∙2∙2∙2∙3∙3B)8∙9 

C)2∙2∙2∙3∙3D)2∙3∙3∙4 
 

 

1 9 ) W hich list co nt a ins b o t h e ve n numb e rs a nd o dd 
numb e rs? 

A)4,10,12,20,28B)5,10,15,20,40 

C)6,30,40,50,60D)2,4,6,8,10 

1 2 ) 
 

 
 
 
 
 

1 3 ) 
 

 
 
 

1 4 ) 
 
 
 
 
 
 

 
1 5 ) 
 

 
 
 
 
 
 
 
 
 
 
 
 

1 6 ) 
 

 
 
 

1 7 ) 
 

 
 
 
 
 
 
 
 
 
 
 

1 8 ) 
 

 
 
 
 
 

1 9 )



4  

2  3 
 

2 0 ) D e t e rmine t he co mp o sit e numb e r re p re se nt e d b y 2   ( 3   ) ( 
 

 

A)180B)108C)540D)30 
 

 

2 1 ) W hich numb e r is ne it he r p rime no r co mp o sit e ? 

A)3B)2C)1D)4 
 

2 2 ) F ind t he p rime f a ct o riz a t io n o f 1 , 2 6 0 . 

A)1∙4∙5∙7∙9B)2∙2∙3∙3∙35 

C)2∙2∙3∙3∙5∙7D)2∙2∙2∙3∙5∙5 

 

 
 
 

2 0 ) 
 
 
 
 
 

2 1 ) 
 

 
 
 

2 2 )



3 

 

3   2 
2 

× 

3 

2 3 ) W rit e t he p rime f a ct o rs o f 3 6 0 in e xp o ne nt ia l no t a t io n. 
 

2 3 )   

 

A)2×2×2×3×3×5B)2  ×3 ×5C)2×2×3×3×3×5D)  
2   3

×5

 

 

2 4 ) W rit e t he p rime f a ct o riz a t io n o f 1 , 8 0 0 using e xp o ne nt ia l no t 
a t io n. 

2 4 )   

3  2  2 
A)2∙2∙2∙3∙3∙5∙5B)2  ∙3  ∙5 

3 
C)2 

 

∙9∙5 
2 

D)18∙100

 

2 5 ) W rit e t he p rime f a ct o riz a t io n o f 1 2 0 , using e xp o ne nt ia l no t a 
t io n. 

 

2 5 )   

3 
A)2 

3 
(3)(5)B)2(2)(2)(3)(5)C)2 

4 
(2)(2)(5)D)2 

 

(3)(5)

 

2 6 ) W rit e t he p rime f a ct o riz a t io n o f 1 , 8 0 0 , using e xp o ne 
nt ia l no t a t io n. 

 

2 6 )   

3  2   2 2  3   2

A)2 (3  )(5 

2    2 
)B)2 (3  )(5  )

C)2(3 )(10 )D)2(2)(2)(3)(3)(5)(5)

2 7 ) W hich is t he le a st co mmo n mult ip le o f 6 a nd 9 ? 

A)54B)9C)18D)6 
 

2 8 ) W hich is t he le a st co mmo n mult ip le o f 4 a nd 1 5 ? 

A)30B)60C)4D)15 
 

2 9 ) F ind t he g re a t e st co mmo n f a ct o r o f 6 a nd 1 5 . 

A)90B)3C)15D)1 
 

3 0 ) F ind t he g re a t e st co mmo n f a ct o r o f 2 0 a nd 2 8 . 

A)2B)4C)1D)140 
 

3 1 ) F ind t he le a st co mmo n mult ip le o f 1 2 , 2 4 , a nd 3 0 . 

A)6B)12C)24D)120 

 

3 2 ) F ind t 

he g re a t 

e st co 

mmo n f a 

ct o r o f 6 

, 9 , a nd 1 

0 . 

A)3B)

1C)6

D)90 
 

3 3 ) W 

hich is t 



3 
 

he le a st co mmo n mult ip le o f 4 a nd 1 2 ? 

A)4B)48C)12D)2 

2 7 )    
 

 
 
 

2 8 )    
 

 
 
 

2 9 )    
 

 
 
 

3 0 )    
 

 
 
 

3 1 )    
 

 
 
 

3 2 )    
 

 
 
 

3 3 )   



3  

3 4 ) F ind t he g re a t e st co mmo n f a ct o r o f 4 2 , 8 4 , a nd 2 1 0 . 

A)7B)14C)42D)21 
 

3 5 ) W hich is t he le a st co mmo n mult ip le o f 2 , 7 , a 

nd 1 4 ? 

3 4 ) 
 

 
 
 

3 5 )

A)14B)7 

C ) 1 9 6 D ) no ne o f t he a b o ve
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3 6 ) W hich is t he le a st co mmo n mult ip le o f 1 2 , 1 8 , a nd 3 0 ? 

A)180B)6C)6,480D)1,620 
 

 

3 7 ) F ind t he g re a t e st co mmo n f a ct o r o f 1 4 , 2 1 , a nd 3 5 . 

A)2B)210C)7D)10,290 
 

3 8 ) F ind t he g re a t e st co mmo n f a ct o r o f 2 6 a nd 5 2 . 

A)676B)26C)13D)1 
 

3 9 ) W hich o f t he f o llo w ing list o f f ra ct io ns is e q uiva le 

nt t o 
  7       

? 

3 6 ) 
 
 
 
 

3 7 ) 
 

 
 
 

3 8 ) 
 
 
 

 
3 9 )

 

A) 
14

,
9 

1 0 

, 3 5    ,49 ,70                                   B)7, 7     , 
7   

, 
7   

,
7

 

2040        5 0 7 0     1 0 2040    5 0  7 0  1 0 0 
 1 4   2 8  3 5   4 9  0  1 4   2 8  3 5  4 9  7 0 
C ) ,       ,  7 0  , ,  ,  

10,1                0  1 0 1 0 , 1 0 D)20,4 0 50 70 100

 

4 0 ) W hich o f t he f o llo w ing f ra ct io ns is e q uiva le nt t o 
 3 

? 

4 
 

1515                                                                   1 5 
 

A)B3) 20                                                           C)  4 D)2 
 

4 1 ) F ind t he e q uiva le nt f ra ct io n ha ving t he de no mina t o r indica t e d 

in 
4 

= 
? 

. 

4 0 ) 
 
 
 
 
 
 
 
 
 
4 1 )

 

1 2 8 
A)B) 

2727 

1 

4 2 ) Re duce     t o lo w e st t e rms. 
 

2 0                           8 4 
A )  16                                                                                                                                                                                                                                                                                                                                                                                           1 0 5  

B)C)   

 

4 3 6 
C)D)    

2727 

9 2 7 
 
 
 
 
 
 
 
 

 
D ) 1 

 
 
 
 
 
 

 
4 2 )

 

2 0 
 

4 3 ) I f e a ch inch o f a n E ng lish rule is divide d int o 6 4 unit s, w ha t p a rt 
o f a n inch w o uld b e me a sure d b y 3 o f t he unit s? 



6 
 

 3 
inch A )  3  inch B ) 3 inche s C )  

1                                               
inch D ) 

6  4 4                                                                                                      8 

4 3 )



5  

2 4 
4 4 ) Re duce       t o lo w e st t e                                                                                                    4 4 )    

rms. 
3 6 

 

4 2 4                                                                 1 2 2 
A )     B       )                                                                                                                               C )     D )   

6 3 6                                                                 1 8 3



6  

4 5 ) Simp lif y  4  8     .                                                                                                                          4 5 ) 

9 6 
 

A )  3 
4 

B ) 1 
4 

C )  2 
3 

D )  1 
3 

E ) no ne o f t he a b o ve 
 

4 6 ) W rit e 1 1 ÷2 5 in f ra ct io n f                                                                                              4 6 ) 

o rm. 
 

3 2 5                                                                 3 1 1
A ) 2             B)C)2 D     ) 

1 1       1 1        2 5      2 5 
 
 

S H O R T A N S W E R . W r i t e t h e w o r d o r p h r a se t h a t b e st co mp l e t e s e a ch st a t e me n t o r a n sw 
e r s t h e q u e st i o n . 

4 7 ) U se a U . S. cust o ma ry rule r t o me a sure t he line b e lo w t o t he ne a   4 7 ) 

re st e ig ht h o f a n inch: 
 

 
 

4 8 ) U se a U . S. cust o ma ry rule r t o me a sure t he line b e lo w t o t he ne a 
re st f o urt h o f a n inch: 

 

 
 

 
 

4 9 ) U se a U . S. cust o ma ry rule r t o me a sure t he line b e lo w t o 
t he ne a re st sixt e e nt h o f a n inch: 

 

 

 

5 0 ) U se a U . S. cust o ma ry rule r t o me a sure t he line b e lo w t o t he ne 

a re st ha lf inch: 

4 8 ) 
 
 
 
 
 
 

 
4 9 ) 
 
 
 
 
 
 
 

5 0 )

 

 



7 
 

5 1 ) U se a U . S. cust o ma ry rule r t o me a sure t he line b e lo w t o                     5 1 )   

t he ne a re st sixt e e nt h o f a n inch: 
 

 
 

 

5 2 ) U se a U . S. cust o ma ry rule r t o me a sure t he line b e lo w t o t he ne       5 2 ) 

a re st f o urt h o f a n inch: 
 

 
 

 

5 3 ) U se a U . S. cust o ma ry rule r t o me a sure t he line b e lo w t o                    5 3 ) 

t he ne a re st sixt e e nt h o f a n inch: 
 

 
 

 
 
 

M U L TI P L E C H O I C E . C h o o se t h e o n e a l t e r n a t i v e t h a t b e st co mp l e t e s t h e st a t e me n t o r 
a n sw e r s t h e q u e st i o n . 

5 4 ) W rit e a f ra ct io n t o re p re se nt t he sha de d p o rt io n o f a g                               5 4 ) 

ive n f ig ure . 
 
 
 
 
 
 

7531 
A)     B)      C)D) 

121244 
5 5 ) W rit e a f ra ct io n t o re p re se nt 4 o ut o f 5 kit t e 
ns in a lit t e r. 

3 2                                                                     1 4 
A )     B       )                                                                                                                              C )     D     ) 

5 5                                                                     5 5 
 

5 0 
5 6 ) Re duce          t o lo w e st t e 
rms. 

5 5 ) 
 
 
 
 
 
 
 

 
5 6 )

1   0 

0 
1 

A)0.5B) 

2 
 

2 4 

  5 

C ) 1 
0 

1 
D ) 0 

2 
0

5 7 ) Re duce      t o lo w e st t e 
rms. 

5 7 )

7 5 



8 
 

6 8



9 
 

A)B) 
 

 

2525                                                                                         324 
C)D)       

2550



1
0  

7     2 
5 8 ) Re duce          t o lo w e st t e 
rms. 

 

 

5 8 )   

1 8 
0 

 

7 2 6                                                                 3 6 2 
A )     B )                                                                                                                                      C )     D )   

18015                                                                9 0 5 
 

5 9 ) W hich f ra ct io n is e q uiva le nt t o 
7 

a nd ha s a de no mina t o r o f 5 6 ? 

8 
 

5635                                                                  4915 
A )     B )                                                                                                                                        C )   D )   

6456                                                                  5656 
 
 

6 0 ) W hich f ra ct io n is e q uiva le nt t o 
3 

a nd ha s a de no mina t o r o f 3 0 ? 

5 
 

1 8 9                                                                 3 0 3 
A )     B )                                                                                                                                        C )   D )   

3030                                                                  5030 
 
 

6 1 ) W hich f ra ct io n is e q uiva le nt t o 
4 

a nd ha s a de no mina t o r o f 2 8 ? 

7 
 

3 1 6                                                               2 8 8 
A )     B )                                                                                                                                        C )   D )   

2828                                                                  4928 
 

6 2 ) I f e a ch inch o n a U . S. cust o ma ry rule is divide d int o 3 2 p a rt s, w ha t 
 

p a rt o f a n inch w o uld b e indica t e d b y t he 5
t h 

ha sh ma rk in a inch? ( I llust 

ra t e w it h a 

dra w ing . ) 

A )   5  inch B )  
5                    inch C )                    5 inch D )  

1                     inch 

6432                                                                  1 6 4 
 

 
6 3 ) I f o ne inch o n a U . S. cust o ma ry rule is divide d int o 1 6 p a rt s, w ha t is t 

he le ng t h o f e a ch p a rt o f t he inch? 

5 9 ) 
 
 
 
 
 
 
 
 

 
6 0 ) 
 
 
 
 
 
 
 
 

 
6 1 ) 
 
 
 
 
 
 
 
 

 
6 2 ) 
 
 
 
 
 
 
 
 
 
 
 
 

6 3 )

 

A )   1inch B ) 1 6 inche s C )    1 inch D )  
1
 inch 

1 7 1 6 4  



1  

E S S A Y. W r i t e y o u r a n sw e r i n t h e sp a ce p r o v i d e d o r o n a se p a r a t e sh e e t o f p a p e r . 
 
 

6 4 ) D e scrib e ho w yo u ca n t e ll if a f ra ct io n ha s b e e n re duce d t o lo w e st t e rms. 
 

 
6 5 ) W ha t is t he p ro ce ss use d t o re duce a f ra ct io n?



 

M U L TI P L E C H O I C E . C h o o se t h e o n e a l t e r n a t i v e t h a t b e st co mp l e t e s t h e st a t e me n t o r a n sw e r s t 
h e q u e st i o n . 

6 6 ) W rit e 3  7 a s a mixe d numb e r.                                                                                       6 6 ) 

1 4 

A ) 2 9 
1 4 

B)21 

7 
C ) 12  3 

1 4 
D ) 9 2 

1 4 

E ) no ne o f t he a b o ve 
 

5            2 1 1 

6 7 ) W hich o f , 2 , 4           , is a n imp ro p e r f ra ct io n? 

1234 

1 1                                  5 

A)2B)4                             C )   1 
2 

9 0 

6 8 ) W rit e      a s a mixe d numb e r. 

 
 

6 7 ) 
 

 

2 

D)4    3 
 
 

 
6 8 )

 
 

4 
A)2  7 

 

2 
B)3  7 

 

2 
C)4  7 

2 
D)7  7 
E ) no ne o f t he a b o ve 

 

 

6 9 ) Co nve rt 

numb e r. 

6 9  
t o a mixe d o r w ho le 

 

 

6 9 )   

1 6 
 

5575 

A)416B)48C)416D)16 
4 2 

7 0 ) W rit e      a s a w ho le o r mixe d 

 
 
 
 
 
 
 
7 0 )   

 

 
 
 

1



1 
 

2772 
 

A)75B)75C)85D)85



1 
 

1 3 
 

7 1 ) W rit e      a s a w ho le o r mixe d 
 

 
 
 

6616 

A)113B)17C)27D)7 
 

 

7 2 ) A de no mina t o r o f a f ra ct io n is 3 6 a nd t he nume ra t o r is 1 5 
. W hich o f t he f o llo w ing b e st de scrib e s t he f ra ct io n? 

 

A ) T he f ra ct io n is b e st de scrib e d a s a n imp ro p e r f ra ct io n. 
 

B ) T he it e m re p re se nt e d b y t he f ra ct io n is divide d int o 3 
6 e q ua l p a rt s. 

 
C ) W he n w rit t e n a s a f ra ct io n t he f ra ct io n is in lo w e st 
t e rms. 

 

 
 

7 1 )    
 
 
 
 
 
 
 

 
7 2 )   

3 6 

D ) T he f ra ct io n ca n b e w rit t e n a s            . 
 

 

7 3 ) W rit e 
t e rms. 

1 5 
 

 

3 

 

a s a w ho le o r mixe d numb e r in lo w e st 
 
7 3 )   

 
A)5B)4       3                                C)12D)            1 

3                                                                                   5 
 

7 4 ) W rit e 
5 4 

a s a w ho le o r mixe d numb e r in lo w e st t e rms. 

1 2 
 

1 1 6 

A)42B)52C)42D)412 
 

 

7 5 ) W rit e 
3 5 

a s a w ho le o r mixe d numb e r in lo w e st t e rms. 

1 0 
 

1 5 1 

A)32B)
25

C)310D)302 

2 

7 6 ) Cha ng e 5 3 t o a n imp ro p e r f ra 

ct io n. 
 

1 0 2                                                                               3 3 
A)B)   

7 4 )    
 

 
 
 
 
 
 
 
 

7 5 )    
 

 
 
 
 
 
 
 
 

7 6 )



1 
 

1517                                                                             3 3 
C)D) 

 

7 7 ) Co nve rt 3 
7 

t o a n imp ro p e r f ra ct io 

n. 

 

 
 
 
 

7 7 )

8 
2131 

A ) B8)8 

2924 
C)D)    

8 8



10  

5 
 

7 8 ) Cha ng e 2 6 t o a n imp ro p e r f ra ct io 
n. 

 
 

1713                                                                  1211 
C)D)        

A ) B6)8                                                                            6 6 
 

7 9 ) Cha ng e 2
1

8 t o a n imp ro p e r f ra ct io n. 

3 
 

3185                                                                  3285 
C)D)        

A ) B3)3                                                                            3 2 8 
 

8 0 ) Cha ng e 1
3

4 t o a n imp ro p e r f ra ct io n. 

4 
 

4959                                                                  2146 
C)D)        

A ) B4)4                                                                            4 4 

1 
 

8 1 ) Cha ng e 7 3 t o a n imp ro p e r f ra ct io 
n. 

 
 

131122 

A)37B)22C)3D)3 
 

 

8 2 ) Cha ng e 0 . 6 t o it s f ra ct io n o r mixe d-numb e r e q uiva le nt a 
nd re duce t o lo w e st t e rms. 

4 6063  

A)     B     ) 

5 100105 
C)D)   

 

 

8 3 ) Cha ng e 2 . 5 t o it s f ra ct io na l e q uiva le nt a nd re duce t 
o lo w e st t e rms. 

 

A ) 
 2 5 B)2   5   

 

C)2  1D)1 

1 0 0 1 0 2 4 

 0  

 
 
 

8 4 ) T he le ng t h o f a scre w is 2 . 6 2 5 in. Re p re se nt t his le ng t h a s a 
mixe d numb e r. 

3755 

A ) 2 8 in. B ) 2 8 in. C ) 2 8 in. D ) 8 in. 

 

 

7 8 ) 
 

 
 
 
 
 
 
 
 
 

7 9 ) 
 
 
 
 
 
 
 

 
8 0 ) 
 
 
 
 
 
 
 

 
8 1 ) 
 
 
 
 
 
 
 
 
 

8 2 )    
 
 
 
 
 
 
 

8 3 )    
 
 
 
 
 
 
 
 
 
 
 

8 4 )   



11  

8 5 ) Cha ng e 
   9  

t o a de cima l.                                                                                                 8 5 ) 

1 0 

A)9B)0.09C)0.9D)90



12  

 

8 6 ) Cha ng e 
cima l. 

7 
t o a re p e a t ing de 

 

 

8 6 )   

9 
 

7 
A)0.77 

 

79B)0.77777777C)0.77777778D)0.7

8 7 ) Cha ng e 0 . 0 2 4 t o it s f ra ct io n e q uiva le nt a nd re duce t 
o lo w e st t e rms. 

8 7 )   

2 4                                                          24                                3
A)B   ) 6                                                                  C)                                             D )

 

10025  1 0 0  1 2 
  0  5 

8 8 ) T he le ng t h o f a scre w is 4 . 2 7 5 in. Re p re se nt t his le ng t h a s 
a mixe d numb e r. 

35117 

A)34B)38C)440D)38 

8 9 ) W hich f ra ct io n re p re se nt s a me a sure o f 0 . 

3 4 7 5 f t . ? 

3                                3 4 7                             13927 

8 8 )    
 

 
 
 
 
 
 

8 9 )   

A )        B )   

1 6 
C )        D )   

5                                   40080 

1 0 

0
 

7 

9 0 ) Cha ng e 1 8 t o a de cima l. 

A)0.1875B)9.75C)1.875D)0.975 
 

7 
9 1 ) W rit e a s a de cima l t o t he hundre dt hs p la ce w it h re ma inde r e xp 
re sse d a s a 

1 2 

f ra ct io n. 

 
9 0 ) 
 

 
 
 
 
 

9 1 )   

1 
A).5   8 

1 
2                     B).5    1                         C).58    1                       D).5   8

1 0 0                                    8                                                    3                                                                    2 5 

3                                    3 
 

9 2 ) A p la n ne e ds a g a p o f 
5 

in. W ha t sho uld t he g a p b e in de cima l no t a t io n? 
8 



13  

A ) 0 . 6 3 in. B ) 0 . 6 2 5 in.        C ) 1 . 6 in. D ) 0 . 1 2 5 in. 9 2 )   
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9 3 ) W hich f ra ct io n 
is sma lle st ? 

5 3 
A ) B    ) 

1 2 4 

 
 

 
2 1 6 

C)D)E)   

3 2 7 

9 3 )   

 
 

9 4 ) A q ua lit y co nt ro l insp e ct o r use d ca lip e rs t o me a sure t he dia me t e rs      9 4 )    

 

o f f o ur ro ds a nd f o und t he m t o b e 0 . 2 5 6 mm, 0 . 2 6 4 mm, 0 . 2 5 3 
mm, a nd 0 . 2 4 9 mm. W hich me a sure is la rg e st ? 

A ) 0 . 2 5 3 mm B ) 0 . 2 6 4 mm C ) 0 . 2 5 6 mm D ) 0 . 2 4 9 mm



15  

9 5 ) W hich is t he co mmo n de no mina t o r f o r  3 a                                                             9 5 ) 

nd 5   ? 
 

7 8 
 

A)8B)15C)56D)7 
 
 

S H O R T A N S W E R . W r i t e t h e w o r d o r p h r a se t h a t b e st co mp l e t e s e a ch st a t e me n t o r a n sw e r 
s t h e q u e st i o n . 

9 6 ) A rra ng e t he se f ra ct io ns in o rde r b e g inning w it h t he sma lle st :      
9 6 ) 

3   3  5  6
,   ,    ,  

48127
 

9 7 ) I f ho t do g s co me in p a cka g e s o f t e n a nd b uns co me in p a cka g      9 7 )
 

e s o f e ig ht , w ha t is t he minimum numb e r o f p a cka g e s o f ho t do 

g s a nd b uns t ha t ne e d 
 

t o b e p urcha se d so t ha t t he re is a n e q ua l numb e r o f ho t do g s 
a nd b uns? 

 

 
 

M U L TI P L E C H O I C E . C h o o se t h e o n e a l t e r n a t i v e t h a t b e st co mp l e t e s t h e st a t e me n t o r 
a n sw e r s t h e q u e st i o n .

9 8 ) W hich is t he co mmo n de no mina t o r f o r 
3 

a nd 
7 ? 

 
9 8 )

 

 
 

A)5B)20C)15D)10 

5 1 5

4      1     5 
9 9 ) A rra ng e  ,    ,       in o rde r, b e g inning w it h t he sma lle st . 

9311 

 

9 9 )

A ) 
 1 

, 5  ,  4 B)
1,   4 ,  5 C ) 5 ,  4 , 1                 D)

4
 ,     1 ,  5

3      1 1 9                       3  9 1 1                          11 93                               9  3 1 1 

7 

1 0 0 ) W hich f ra ct io n is la rg e r,         o                                                                                                      1 0 0 
) 

 

 

8 9 

7 7 
A)B)     

9 8 
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1 0 1 ) W hich f ra ct i o n is la rg e r, 3 o 1 0 1 

r 
 5       

?  ) 



15 

 

5 6 

3 5 
A)B)     

5 6 
 

1 0 2 ) W hich o f t he f o llo w ing e xp re ssio ns ha s t he g re a 
t e st va lue ? 

2 7     7     4 

A)0.87B )                        C )    D )          3285 
 
 

1 0 3 ) W hich is t he co mmo n de no mina t o r f o r 
1 

, 
5 

, a nd 
7 

? 

1 0 2 

) 
 

 
 
 
 
 

1 0 3 
)

 
 

A)100B)2C)72D)36 

2188
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1 0 4 ) W hich is t he co mmo n de no mina t o r f o r 
7 

, 
5 

, a nd 5 

? 

 

1 0 4      
)

 

 

A)36B)12C)16D)24 

8126

1 0 5 ) W hich p a ir o f f ra ct io ns ha s t he co mmo n de 
no mina t o r 4 8 ? 

1 0 5 

                    )

A ) 3 a nd  
5                  

B ) 
7 

a nd 
5            

C ) 
5 

a nd 
1               

D ) 1 a nd 
7 

1412                                3 6 6                           8 5                             6 1 6 
 
 

1 0 6 ) A w re nch is ma rke d 

rg e r? 

1 1 
a t o ne e nd a nd 

1 5 
a t t he o t he r e nd. W hich e nd is la          106)

 
 

1511 
A)B)     

3216 

1632

1 0 7 ) W hich de cima l is la rg e r, 4 . 3 5 o r 4 . 3 3 6 ? 

A)4.35B)4.336 
 
 

1 0 8 ) A nurse me a sure s a nd re co rds t e mp e ra t ure s o f 9 6 . 9 , 9 8 . 5 , 9 5 . 7 
, a nd 9 7 . 9 . W hich t e mp e ra t ure is hig he st ? 

A)98.5B)95.7C)97.9D)96.9 

1 0 7 

) 
 

 
 

1 0 8 
)

 

 
E S S A Y. W r i t e y o u r a n sw e r i n t h e sp a ce p r o v i d e d o r o n a se p a r a t e sh e e t o f p a p e r . 

 

 

1 0 9 ) W hich b o a rd is lo ng e r? One t ha t is se ve nt y-t w o a nd f o ur f if t hs inche s 

o r o ne t ha t is se ve nt y-t w o a nd se ve n e ig ht hs inche s? E xp la in ho w yo u 

kno w . 
 

 
M U L TI P L E C H O I C E . C h o o se t h e o n e a l t e r n a t i v e t h a t b e st co mp l e t e s t h e st a t e me n t o r 
a n sw e r s t h e q u e st i o n . 

1 1 0 ) A dd: 3 + 1  4                                                                                                                                                                 
1 1 0 
) 

2 5 
 

A  ) 41
7

0 
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B)3
5

8 
 

1



17 
 

C)32 
 

D ) 41
3

0 

E ) no ne o f t he a b o ve



18 
 

1 1 1 ) W ha t le ng t h o f b o lt is ne e de d t o f a st e n t w o p ie ce s o f me t a l e a ch             111)      
3

 
 

3 
         in. lo ck w a she r is use d a nd a 

1 6 8 

4 

1 
in. nut is use d?

1311113 

A ) 1 1 6 in. B ) 1 1 6 in. C ) 1 1 6 in. D ) 1 6 in. 
 

1                                                                            5
1 1 2 ) T he st uds o f a n o ut side w a ll a re 5 
hick 

in. t hick. T he inside w a llb o a rd is in. t            112)

 

 
 
 
 
 

31151 

 
 

1 5 
a nd t he o ut side co ve ring is 2 

1 6 

2 8 
 

in. t hick. W ha t is t he t o t a l t hickne ss o f t he w a ll?

A ) 9 1 6 in. B ) 9 1 6 in. C ) 8 1 6 in. D ) 8 1 6 in. 

 

1 1 3 ) Pe rf o rm t he indica t e d o p e ra t io n, le a ving t he a nsw e r in lo w e st t e 1 1 3 ) rms: 
1 

+ 
2 

= 

3 17                                                                          7 3
A)B   ) 1 2 2 

C)D)       

1021                                                                   2121 
 

 

1 1 4 ) A dd: 5   + 
7                                                                                                                                      

114) 

9 3 0 
17 

A) 

4 5 
12 

B) 

3 9 

C)71 

9 0 

D)23 

4 5 

E ) no ne o f t he a b o ve 
 

3 1 
1 1 5 ) Pe rf o rm t he indica t e d o p e ra t io n, le a ving t he a nsw e r in lo w e s  t t e                                                                                                                                                                                                  115) 

rms: 2 + 1 = 
4 5 

711193 
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A)224B)120C)320D)310
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1                                                           C ) 1    

7 

1 1 6 ) A dd: 2 1 1    + 9 

1 4     3 5 
A ) 1   3 

1 0 

2 0 

B ) 4 9 

C ) 3  3 
7  0 

 
116)     

2 
D)

E ) no ne o f t he a b o ve 
 

1 1 7 ) A dd 
7 

+ 
5 

a nd re duce a nsw e rs t o lo w e st t e rms w it h imp ro p e r f ra ct io ns cha ng 

e d 

 
 

 
117)     

8 8 
 

t o w ho le o r mixe d numb e rs. 

 3 1                                                                       3 3 
A )           B )                                                                                                                                                        D ) 

8          2                                                              4        4 
 

1 1 8 ) A dd 
 7      3 

+ 

 

a nd re duce a nsw e rs t o lo w e st t e rms w it h imp ro p e 
 

118)     

r f ra ct io ns 

1 6 4 
 

cha ng e d t o w ho le o r mixe d numb e rs. 

1  1 5                                                                                                        3 
A )           B )       1       C )                                                                                                                                                                                   D ) 1 

2         4        8                                                                                          1 6 
 

7     1 
1 1 9 ) A dd    2                 + 1 a nd re duce a nsw e rs t o lo w e st t e rms w it h imp ro p e r 
f ra ct io ns 

8 4 
 

cha ng e d t o w ho le o r mixe d numb e rs. 
1121 

A)5                  B)4       C)3            D)3 

8       8         3         8 

 

 
 
 
 
 
 
 
 
 
 
 

119)

1             1                    1
1 2 0 ) J o e a dde d t he f o llo w ing q ua rt s 

f o il: 1 
 

 
 

did J o e a dd? 

1 

o        q t . 2                                

q t . a nd 3                     

q t . H o w 

much o 

il 
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2 4 2 
 
 

1 3 

120)



 

A ) 7 2 q t . B ) 7 4 q t . C ) 7 q t . D ) 7 4 q t . 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
20
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5     3 
1 2 1 ) A dd 6                     + 6 a nd re duce a nsw e rs t o lo w e st t e rms w it h imp ro p e r 
f ra ct io ns 

 

8 5 
 

cha ng e d t o w ho le o r mixe d numb e rs. 
8998 

A)1213B)1240C)1340D)1313 
 

1 2 2 ) A p lumb e r use s a 
3 

inch dia me t e r co p p e r t ub e w ra p p e d w it h 
1 1 

inch insula 
t io n. 

 
121) 
 
 
 
 
 
 
 
 
 
 

 
122)     

4 3 2 
 

W ha t siz e ho le must b e b o re d f o r t he insula t e d p ip e t o p a ss t hro ug h? 
 

A ) 13
3

2 
 

B )  11
5

6 
 

C ) 11
7

6 
 

D)1
1

3
5

2 
 

E ) no ne o f t he a b o ve 

1 2 3 ) Pe rf o rm t he indica t e d o p e ra t io n, le a ving t he a nsw e r in lo w e st t e 

rms: 
 5 

+ 
1 1 

= 

123)     

8 1 6 

4 5 2                                                                                                    5 5 
A ) 1        B ) 1  C) D)    

 5  1 6 3 1 2 8 

1 2 4 ) Pe rf o rm t he indica t e d o p e ra t io n, le a ving t he a nsw e r in lo w e st t 

e rms: 7 + 4 5 + 4 

124)

9 6 
 

= 

14112 
A)15                                  B) 8  C)9             D    )    2 

2 7         5       1 8          3 
 
 

S H O R T A N S W E R . W r i t e t h e w o r d o r p h r a se t h a t b e st co mp l e t e s e a ch st a t e me n t o r a n sw e r s t h e 
q u e st i o n . 

1 2 5 ) A p lumb e r use s a 
 3 

inch p ip e w it h
  9 

inch insula t io n. W ha t siz            125) 

e ho le
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8 3 2 
 

must b e b o re d f o r t he insula t e d p ip e t o p a ss t 

hro ug h? 
 

1 2 6 ) F ind t he mist a ke in t he f o llo w ing p ro b le m: 
 3 

+ 
5 

= 
8 

= 
4 

126)  

46105



 

23 
 

M U L TI P L E C H O I C E . C h o o se t h e o n e a l t e r n a t i v e t h a t b e st co mp l e t e s t h e st a t e me n t o r a n sw e r s t 
h e q u e st i o n . 

1 2 7 ) A dd 
1 1 

+ 
7 

a nd re duce a nsw e rs t o lo w e st t e rms w it h imp ro p e r f ra ct io 

ns 

127)     

1 2 8 
 

cha ng e d t o w ho le o r mixe d numb e rs. 
991919 

A)110B)10C)24D)124 

1 2 8 ) A dd 1 0 + 4 
4 

a nd re duce a nsw e rs t o lo w e st t e rms w it h imp ro p e 
r f ra ct io ns 

 
 
 
 
 
 
 
 

 
128)

 

 
cha 

5 
 

ng e d t o w ho le o r mixe d numb e rs. 
 

4144
 

A)185B)55C)65D)145 

1 2 9 ) A b lue p rint ca lls f o r a p ie ce o f b a r st o ck 7 
5 

in. lo ng . I f a t o le ra nce o f ±
1 

in. 

is 

129)

8 1 6 
 

a llo w e d, w ha t is t he lo ng e st p e rmissib le me a sure me nt f o r t he b a r st o 
ck? 91311 

A)716B)74C)78D)716 
 

 

E S S A Y. W r i t e y o u r a n sw e r i n t h e sp a ce p r o v i d e d o r o n a se p a r a t e sh e e t o f p a p e r . 
 

 

1 3 0 ) W hy is a le a st co mmo n de no mina t o r so imp o rt a nt in a dding f ra ct io ns? 
 

 
M U L TI P L E C H O I C E . C h o o se t h e o n e a l t e r n a t i v e t h a t b e st co mp l e t e s t h e st a t e me n t o r a n sw e r s t 
h e q u e st i o n . 

1 3 1 ) Sub t ra ct :     5   -                                                                                                         131)   
7 

 

 

A)3
7

0 

B)6
7

0 

C)11 
3 0 

D)11 

1230



 

24 
 

6 0 

E ) no ne o f t he a b o ve



 

4 

2 

2 

5 
1 3 2 ) T e d ha s a w a ll a ncho r t ha t me a sure s 1        inche s. T he scre w he w ishe         132) 
s t o use is 

1 6 
 
 

1
 1

4 inche s. B y ho w much is t he a ncho r lo ng e r o r sho rt e r t ha n t he scre w ? 

A ) 
 1 in. B )   

1                                  in. C )                      1 in. D ) 1 in. 
4 1 6                                                                  8 

 

3 
 

1 3 3 ) A f e nce b o a rd is 9 6 inche s lo ng . 2 4 inche s is cut o f f . T he sa w b la de t a 1 3 3 ) ke s o f f a n 
 

 

a ddit io na8l 
1 

inche s. H o w lo ng is t he f inishe d b o a rd? 
 

1111 
A)93                        inche s B ) 9 3                        inc h e s C ) 9 4                             inche s D   )     9 4            inche s 

4                       8                         8                        4 

3        7 

1 3 4 ) Sub t ra ct : 9  - 3 

8 1 2 
 

A  ) 5
2

2 
 3 

 

 

B)5
1 9

4 C ) 

 

 

51
7

2   D   ) 

 

 

61
5

2 

E ) no ne o f t he a b o ve  
 

1
-2   5=

1 3 5 ) Pe rf o rm t he indica t e d o p e ra t io n, le a ving t he a nsw e r in lo w e 1 2 
st 

 

t e rms: 6 6 
 
 

3113 
 

A ) 4 4 B)44C)3 4D)3 4 

1 3 6 ) Pe rf o rm t he indica t e d o p e ra t io n, le a ving t he a nsw e r in lo w - 
 1 

= 
        7 

e st t e rms: 
3 

 
1 3



 

 
 
 
 

134)      
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

135) 
 
 
 
 
 
 
 
 

 
136)     



 

A)B) 

410                                                                        C)11D)-1 

2 1 4 
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3                                                                                                       D ) 1 

S H O R T A N S W E R . W r i t e t h e w o r d o r p h r a se t h a t b e st co mp l e t e s e a ch st a t e me n t o r a n sw e r s t h e 
q u e st i o n . 

1 
1 3 7 ) Six ro ds 3 inche s lo ng w e re cut f ro m a p ie ce o f iro n ro d 4 1 inche s 1 3 7 ) lo 

ng .
 

 
 

A llo w 

1 6 

1 
inch w a st e f o r e a ch cut . W ha t w a s t he le ng t h o f t he

8                                    
p ie ce le f t ? 

 

 
 
 

M U L TI P L E C H O I C E . C h o o se t h e o n e a l t e r n a t i v e t h a t b e st co mp l e t e s t h e st a t e me n t o r a n sw e r s t 
h e q u e st i o n . 

1 3 8 ) Sub t ra ct :     5   
-                                                                                                       138)      

7 
 

 

A)3
7

6 

B)3
1

6 

C)13 

2 4 

D)1
7

8 

1218

E ) no ne o f t he a b o ve 
 
 

3                                       1 
1 3 9 ) Ma ry cut 4    sq . yd. o f clo t h f ro m 5  sq . yd. o f clo t h. H o w ma ny sq . yd. o f 
clo t h 

139)

4                                        2 

re ma in? 
 1 1                                                                        1 

B )       C           ) 

A )  4                                  4 2                                                                           4 
 
 

 
S H O R T A N S W E R . W r i t e t h e w o r d o r p h r a se t h a t b e st co mp l e t e s e a ch st a t e me n t o r a n sw e r s t h e 
q u e st i o n . 

 

1 4 0 ) H o w lo ng o f a b o lt is ne e de d t o f a st e n t w o p ie ce s o f me t a l e a  1 4 0 ) 

ch 1   1  inche s 
1 6 

t hick if a 
 7  

inch t hick nut is use d? T he nut must b e f lush w it h t he b 

o lt 
6 4 

a f t e r t ig ht e ning . 
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1 1 

M U L TI P L E C H O I C E . C h o o se t h e o n e a l t e r n a t i v e t h a t b e st co mp l e t e s t h e st a t e me n t o r a n sw e r s t 
h e q u e st i o n . 

1 4 1 ) Sub t ra ct a nd re duce w he n ne ce ssa ry:  5                                                                    
141) 

-      3 

 

1616 
1 2 

A )     B       ) 

2 0                                                                 8 1 6
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1 1 

8 4 

1 
1 4 2 ) Sub t ra ct a nd re duce w he n ne ce ssa ry: 

 

 
1  - 5 

 
 
 
142)     

1 6 8 

3 3 
A )      B        ) 

C )  D              ) 

8 1 6 
 

 

1 4 3 ) Sub t ra ct a nd re duce w he n ne ce ssa ry: 6                                                                   
143) 

7     
- 5 

8 
 

7 1 1 

A)18B)18C)1D)48

1 4 4 ) Sub t ra ct a nd re duce w he n ne ce ssa ry: 3
5 

 

7 
- 1 

9 9 

2122 

A)29B)29C)39D)20 

 

 
144)

 

 
S H O R T A N S W E R . W r i t e t h e w o r d o r p h r a se t h a t b e st co mp l e t e s e a ch st a t e me n t o r a n sw e r s t h e 
q u e st i o n . 

5 
 

1 4 5 ) A ma chine p a rt is f a b rica t e d t o     b e 3 inch lo ng w it h a t o le ra 145) 

nce o f ± 

     1   

8  

3 2   inch. W ha t is t he sma lle st a nd la rg e st t he p a rt ca n b e ? 
 

 
1 4 6 ) A ma chine p a rt is f a b rica t e d t 

1 
o     b e 8 inch lo ng w it h a t o le ra 

 
146)

nce o f ±                                    4 

     1   

3 2   inch. W ha t is t he sma lle st a nd la rg e st t he p a rt ca n b e ? 
 

1 4 7 ) F ind t he mist a ke in t he f o llo w ing p 
ro b le m: 

12341 
2 -1=2-1=1 
23666 

147)  

 

 
M U L TI P L E C H O I C E . C h o o se t h e o n e a l t e r n a t i v e t h a t b e st co mp l e t e s t h e st a t e me n t o r a n sw e r s t 
h e q u e st i o n . 

 3
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  n 2  4 

1 1 7 
 

3 1 9 

 

1 4 8 ) Pe rf o rm t he indica t e d o p e ra t io n in t he e xp re ssio 1 

- 15   =                                     148)
 

 
 
 

A)1 20B)224C)3 10D 
)3            20
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1 2 9 

1 4 9 ) Sub t ra ct a nd re duce w he n ne ce ssa ry: 

9 - 2 

 

149)     

1 2 3 

A)B
1

)  7                                                                                            1 1 7 
C)D)   

1512 

-   
 9 

1 5 0 ) Sub t ra ct a nd re duce w he n ne ce     
1 2 

7 

 
 
 
 
 
 
 

 
150)     

ssa ry: 8 
 

1 1                                                                     1 1 
A)B)                                                                                                                                                                                                                             C)D)   

6 2                                                                    8 1 2 
 

1 5 1 ) Sub t ra ct a nd re duce w he n ne ce - 
2  3                                                                     151) 

ssa ry: 8
 7                 

5                                          1

5 

A)B)1C)D) 

241224 

1  9 
1 5 2 ) Sub t ra ct a nd re duce w he n ne ce ssa ry: 1 2 

- 3 

 
 
 
 
 
 
 

152)

 
 
 
 

 
A ) 8 

3232 

13-3                                                               1 3 3 

1       6B)9 16C)9 16D       
)916

7        1 5 
1 5 3 ) Sub t ra ct a nd re duce w h e n ne ce s s a ry: 3                                                                                                                                                                                                                                                                                                                                                                                                                                                                                       1   - 

2 0 

 
153)

 

 

17115 

A)11   2 B)10     8 C)11   1 6   D)10   1 6 

1 

8 1 6

1 5 4 ) A co ncre t e f o unda t io n includ e s 1 0 3 inche s f ill. I f t he f o unda t io n                                                    154) 

is t o b e 3 2 
 

inche s t hick, ho w t hick must t he co ncre t e la ye r b e ? 
 

2211 
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A ) 2 1 3 in. B ) 2 2 3 in. C ) 2 2 3 in. D ) 2 1 3 in.



 

8 

1 5 5 ) Mult ip ly: 
5 

×
 3   

× 

3 

 

 

155)     

 

 

9104 
 

5 
A) 

 

B)
1

8 

C)
3

4 

11 
D)      

1 2 

E ) no ne o f t he a b o ve 
 

1 5 6 ) Pe rf o rm t he indica t e d o p e ra t io n, le a ving t he a nsw e r in lo w e st t e 

rms: 2 ×1 = 

3 1          156) 
 

 

4 5

3 1 9                                                                7 1 1 

A)3 10B)3 20C)2 24D )1             20 
 

1 5 7 ) I f yo u mult ip ly a p ro p e r f ra ct io n b y a p ro p e r f ra ct io n, t he re sult is 
a numb e r t ha t is 

 

A ) e q ua l in siz e t o t he la rg e st f a ct o r. 
 

B ) sma lle r t ha n t he la rg e r f a ct o r o nly. 
 

C ) la rg e r t ha n e it he r o f t he f a ct o rs. 
 

D ) sma lle r t ha n e it he r o f t he f a ct o rs. 

 

 
 
 
 

157)     

 

 

1 5 8 ) Mult ip ly: 

 

8 
×
3 

×
3 

 

158)     

 

 

A)10 
2 7 

3 

9410

B)   8 
 

C)1
3

0 

1 
D)   5 
E ) no ne o f t he a b o ve 

 

 
23



24 

 

5 5 7 0 

A)2 B)5 6 C )  4 
2 

D)12 

 

2 1 1 

× 

1 5 9 ) Pe rf o rm t he indica t e d o p e ra t io n, le a ving t he a nsw e r in lo w e st t e rms: 

2 ×1 = 

159)   

3 7 

1714 
A )      B )

2123 
 

 
 

1 6 0 ) Pe rf o rm t he indica t e d o p e ra t io n, le a ving t he a nsw e r in lo w e s  t t e 

rms: 2 ×4 = 
 
 

11082 
A ) 8                 B ) 8         C ) 7                D )      1 2 

3         2 1          2 1            3 

C )         D ) 

2121 
 
 

5 2 
 

 
 

7 3 
 
 
 
 

1       4 

 
 
 
 
160)

1 6 1 ) Pe rf o rm t he indica t e d o p e ra t io n, le a ving t he a nsw e r in lo w 

rms: 3 ×= 
e st t                          e 

 
1 2 9 

161)

  1 1                                                                        1                                 
2 0

A )     B ) 3 
9          2 7 

 

C ) 1 

7 

   0                            D ) 2 

2                                 2 1

 
 

1 6 2 ) Pe rf o rm t he indica t e d o p e ra t io n, le a ving t he a nsw e r in lo w e st t e rms: 7 ×
5 

= 

6 
 

 
 
 
 
 

2  1 
1 6 3 ) Mult ip ly: 1 

3 

162)      
 
 
 
 
 
 
 
 
 

 
163)     

3 5 
 

1 1 
A)3  1  5 

1 
B)4  2 

1 
C)3 1

4
5

1 



25 
 

D)5  3
E ) no ne o f t he a b o ve 1 6 4 ) Mult 

ip ly a nd 
re duce a
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7 7 
4 8 

nsw e rs t o lo w e st t e rms: 
1 

×
   7 

 
 

4 1 6 
7 7 

A )     B       ) 

164)

C )         D ) 

6416



 

5 

1 6 5 ) Mult ip ly a nd re duce a nsw e rs t o lo w e st t e rms:                                                      165)   

7     ×1  5 
 

 8 3 2 

1 0 5 1 0 10511 
A) 32 B ) 5 

2 5 
C) D) 

4 1 6 

 6  

1 6 6 ) Mult ip ly, re duce a nsw e rs t o lo w e st t e rms a nd co nve rt imp ro p e r 
f ra ct io ns t o 

w ho le o r mixe d numb e rs: 9 ×3 
4   

5 

166)  

413636 
A)27                  B)34                 C)34                 D  )27 

5            5            4 5           5 
 

1 6 7 ) Mult ip ly, re duce a nsw e rs t o lo w e st t e rms a nd co nve rt imp ro p e r 
f ra ct io ns t o 

 
 
 

 
167)  

 

w ho le o r mixe d numb e rs: 5 
3 

×3 
5

8 6 
572929 

A)1516B)1524C)2024D)2048 
 

 

S H O R T A N S W E R . W r i t e t h e w o r d o r p h r a se t h a t b e st co mp l e t e s e a ch st a t e me n t o r a n sw e r s t h e 
q u e st i o n .

1 6 8 ) St a nda rd t yp ing p a p e
1

r is 8 inche s w ide b y 1 1 inche s lo ng . I f t 
he ma rg in 

 

168)

2 

a ll a ro und t he e dg e o f t he p a p e r is a unif o rm o ne inch, w ha t is t 
he a re a o f t he p a p e r t ha t ca n b e p rint e d o n? ( N o t e : A re a = L e 
ng t h ×W idt h)

 

1 6 9 ) A p lumb e r ne e ds 6 p ie ce s o f p ip e e  a 
1 

 

 

a st e is 

 

 
 
 

ch 1 6 inche s lo ng . I f inch w 
 

8 8 

 

 
 

169)

a llo w e d f o r e a ch cut , w ha t le ng t h p ip e must t he p lumb e r 
ha ve ? 

 

 
 
 

170)  
3        1 

1 7 0 ) A me t a l b a r is cut int o six p ie ce s e a ch 3 inche s lo ng . E a ch cut w a st e s 

8 1 6 



 

 

inch. D e t e rmine t he le ng t h o f t he o rig ina l b a r. 
 

26



 

M U L TI P L E C H O I C E . C h o o se t h e o n e a l t e r n a t i v e t h a t b e st co mp l e t e s t h e st a t e me n t o r a n sw e r s t 
h e q u e st i o n . 

5 
 

1 7 1 ) T he st a irca se in a ho use ha s 1 5 rise rs, e a ch o ne 7 8 inche s hig h. W ha t is 1 7 1 ) t he t o t a l 
 
 
 

rise o f t he st e p s? 
3553 

A ) 1 1 9 8 inche s B ) 1 0 5 8 inche s C ) 1 0 8 inche s D ) 1 1 4 8 inche s 
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1 7 2 ) Mult ip le a nd re duce a nsw e rs t o lo w e st t e    3                                                          
172)

 

 7         1 

rms: 8     4 
 

 

3 3                                                                   3                                    2 1 
A )        B )                                                                                                                                                                                 C )          D            ) 

1 6 8                                                                 4                                   1 1 2 
 
 

1 7 3 ) A f ue l t a nk t ha t ho lds 9 0 lit e rs ( L ) o f f ue l is 
 2 

f ull. H o w ma ny lit e rs o 1 7 3 ) f f ue l a re in 

3 

t he t a nk? 

A)60LB)135L 
 

 2 
C ) 9 0 

 

3 L D ) no ne o f t he a b o ve

 

 

E S S A Y. W r i t e y o u r a n sw e r i n t h e sp a ce p r o v i d e d o r o n a se p a r a t e sh e e t o f p a p e r . 
 

 

1 7 4 ) A n a llo y w e ig hing 4 2 p o unds is 
2 

co p p e r, 
1 

silve r, a nd 
2 

o t he r ma t e ria l. H o w ma ny 

5 5 5 
 

p o unds o f silve r a re in t he a llo y? E xp la in t he p ro ce ss yo u use d t o f ind t he a nsw e r. 
 
 

 

1 7 5 ) A mixt ure o f dirt , sa nd, e t c. t ha t w e ig hs 3 5 0 p o unds is 3 p a rt s dirt , 1 p a rt sa 

nd, 2 p a rt s t o p so il, a nd 2 p a rt s p e a t . H o w ma ny p o unds o f dirt a re in t he 

mixt ure ? E xp la in t he p ro ce ss yo u use d t o f ind t he a nsw e r. 
 

 
S H O R T A N S W E R . W r i t e t h e w o r d o r p h r a se t h a t b e st co mp l e t e s e a ch st a t e me n t o r a n sw e r s t h e 
q u e st i o n . 

 

1 7 6 ) Ra ise t o t he indica t e d p o w3e r: 
2 2 

1 7 6 ) 

 

 

1 7 7 ) Ra ise t o t he indica t e d p o w8e r: 
3 2 

1 7 7 ) 

 

 

1 7 8 ) Ra ise t o t he indica t e d p o w4e r: 
1 3 

1 7 8 ) 
 

2 3
1 7 9 ) Ra ise t o t he indica t e d p o w e r: 1 7 9 ) 

28



 

5 

1 2 
 

1 8 0 ) Ra ise t o t he indica t e d p o w e r: 1           180) 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

29



 

2 
1 

1 8 1 ) Ra ise t o t he indica t e d p o w e r: 2 5 1 8 1 ) 

 

 
M U L TI P L E C H O I C E . C h o o se t h e o n e a l t e r n a t i v e t h a t b e st co mp l e t e s t h e st a t e me n t o r a n sw e r s t 
h e q u e st i o n . 

 

1 8 2 ) Ra ise t o t he indica t e d p o w e 

r:  4 
2 

182)     

9 
 

88216 
A)B)C)D) 

918381 

1 8 3 ) Pe rf o rm t he indica t e d o p e ra t io n, le a ving t he a nsw e r in lo w e st t e rms: 
3 2 

= 

5 
 

9639 
A)B)C)D) 

252555 
 

 

1 8 4 ) Pe rf o rm t he indica t e d o p e ra t io n, le a ving t he a nsw e r in lo w e st t e rms: 5 2 
= 

7 
 

5 2 5                                                                  2510 
A )  B     )                                                                                                                                 C )     D )   

7 1 4                                                                  4949 
 

 

1 8 5 ) Ra ise t o t he indica t e d p o we 
3 2 

183)      
 
 
 
 
 
 
 
 

 
184)      
 

 
 
 
 
 
 
 
 
 

185)     

r: 
5 

 
9 6                                                                     6 9 

A )  B )                                                                                                                                     C )     D )   

1010                                                                 2525 
 

1 8 6 ) Ra ise t o t he indica t e d p o  w e 

r:   2 3
 

186)     

3 
 

6 6                                                                     8 2 
A )  B )                                                                                                                                     C )     D )   

2 7 9                                                                  2 7 3 
 

1 8 7 ) Ra ise t o t he indica t e d p o  w e 
2 3 

187)     

r: 
5 
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A )   6 B )       C)D) 8  9 6 

1 2 5  1251515 

1 2 
1 8 8 ) Ra ise t o t he indica t e d p o w  e r:                                                                                      188) 

 

1 2 
 

1111 
A ) 1                   B)  2  C)2       D ) 1 

2         2        4        4 
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2 

 

1 8 9 ) D ivide : 

0 

8 
÷
1
  

 
7 6 

15 
A)     

2 4 
5 

 

B)12 

24 
C)     

3 5 

5 
D)   6 
E ) no ne o f t he a b o 
ve 

 

 

 3    1 
1 9 0 ) D ivide : 1      ÷2 

4 8
15 

A)     

1 3 

B)17 
1 4 

C)14 

1 7 
13 

D)      

1 5 

E ) no ne o f t he a b o ve 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 
÷ =

1 9 1 ) Pe rf o rm t he indica t e d o p e ra t io n, le a ving t he a nsw e r in lo w e 2 
 

st t e rms: 2 3 
 

 

41633 
A)B)C)D) 

33416 

2 

5 3 

1 9 2 ) Pe rf o rm t he indica t e d o p e ra t io n, le a ving t he a nsw e r in lo w e st t e rms: = 
1 

1 9 
 

11025 



 

A)510B)51C)527D)6



 

189)      
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
190) 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

191) 
 

 
 
 
 
 
 
 
 
 
 

192)     



 

A ) 4 

 

1 9 3 ) I f yo u divide a la rg e f ra ct io n b y a no t he r sma lle r f ra ct io n, t he re 
sult is a numb e r t ha t is: 

 

A ) ha lf w a y b e t w e e n t he t w o f ra ct io ns. 
 

B ) la rg e r t ha n e it he r o f t he f ra ct io ns. C 

) sma lle r t ha n e it he r o f t he f ra ct io ns. D 

) e q ua l t o o nly o ne o f t he f ra ct io ns. 

 

 

1 9 4 ) Yo u ha ve a b o a rd t ha t is 4 2 inche s w ide a nd w o uld like t o p o sit io 

n 6 sma lle r b o a rds e a ch 5 inche s w ide a cro ss t he b ig b o a rd so t ha t 

t he re is no " ma rg in" o n e it he r side , b ut t he y a re e q ua lly sp a ce d a 

cro ss t he b o a rd. H o w much sp a ce sho uld b e a llo w e d b e t w e e n e a 

ch o f t he sma ll b o a rds? 
 

 2 

1 9 3      

) 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 9 4 

)

A ) 2 5 inche s B ) 2 inche s C ) 3 inche s D ) 7 inche s

1 9 5 ) W ha t is t he re cip ro ca l o 

f 4 . 3 ? 

4 3 4                                                                 1 0 3 
A )     B       )                                                                                                                               C )     D )   

3 1 0                                                                 4 3 4 

1 9 5 

)           

 
 

1 9 6 ) Pe rf o rm t he indica t e d o p e ra t io n, le a ving t he a nsw e r in lo w e st t e        1 9 6 

rms: 
 2   

÷
1  

=                                                                                                                        
)
 

 

3 7 

211172 
B )                C )       D ) 

3       2 1    2 1     2 1 
 
 

S H O R T A N S W E R . W r i t e t h e w o r d o r p h r a se t h a t b e st co mp l e t e s e a ch st a t e me n t o r a n sw e r 
s t h e q u e st i o n .

 
 
 
 

1 9 7 ) Pe rf o rm t he indica t e d o p e ra t io ns a nd re 

duce : 

4
9

-31 

1 6              8    
=197) 

 

 1   3

2   +  1 

4 1 6 
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8 

3 

M U L TI P L E C H O I C E . C h o o se t h e o n e a l t e r n a t i v e t h a t b e st co mp l e t e s t h e st a t e me n t o r 
a n sw e r s t h e q u e st i o n . 

1 9 8 ) D ivide : 2    7   
÷
2                                                                                                    

1 9 8 
)

3 
 

 

A)15 

1 7 

B)13 
1 5 

27 
C)      

3 4 
37 

D)      

5 0 

 

 

1 0 5

E ) no ne o f t he a b o ve 
 

 
S H O R T A N S W E R . W r i t e t h e w o r d o r p h r a se t h a t b e st co mp l e t e s e a ch st a t e me n t o r a n sw e r 
s t h e q u e st i o n . 

 

1 1 
 

32 
=199)

 

1 9 9 ) Pe rf o rm t he indica t e d o p e ra t io ns a      5 4 - 
nd re duce : 

 

1 1 

4 4    - 2 2 
 

 
M U L TI P L E C H O I C E . C h o o se t h e o n e a l t e r n a t i v e t h a t b e st co mp l e t e s t h e st a t e me n t o r 
a n sw e r s t h e q u e st i o n . 

2 0 0 ) D ivide :  8 
÷

4                                                                                                    
2 0 0 
) 

9 3 
 

5 
A) 

 

B)
2

5 
 

C)
2

3 
 

1 
D)

E ) no ne o f t he a b o ve  

  5                                                                                      
7
 

1 1

1 2 
2 0 1 ) W hich de scrip t io n b e st de scrib e 

s ? 
34



35  

2 0 1 

) 
 

 

A ) Mixe d-de cima l f ra ct io n B ) Pro p e r f ra ct io n 

C ) D e cima l f ra ct io n D ) Co mp le x f ra ct io n



30  

C )       D ) 

 

2 0 2 ) Give t he re cip ro ca l9o f 

 7    7 

7    .                                                                              202)    

A)1B)-          C) 
 

9 
9 9                                                            D)   7

2 0 3 ) Give t he re cip ro ca l o f                                                                                                            203)     

9 .                                                                                      9 
1    1                                                                             C)1D)-9 

A)-  B) 

9 9 
 

2 0 4 ) D ivide a nd re duce a nsw e rs t o lo w e st t e rms, co nve rt ing imp ro p e r f 

ra ct io ns t o w ho le o r mixe d numb e rs: 

 6  ÷1 0 

7 2 1 

9 4                                                                 2 0 5 
A ) 2                  B ) 1            C )           D )   

2 0          5      4 9     9 
 

2 0 5 ) D ivide a nd re duce a nsw e r t o lo w e st t e rms co nve rt ing imp ro p e r f 

ra ct io ns t o w ho le o r mixe d numb e rs: 

6÷3
1

3 

2 0 4 
) 
 

 
 
 
 
 
 
 
 
 
 

2 0 5 
)

1         4  5 
A)   B)20C)1  D) 

2059 
2 0 6 ) D ivide a nd re duce a nsw e r t o lo w e st t e rms. Co nve rt imp ro p e r f ra ct io 

ns t o w ho le o r mixe d numb e rs: 
 

6 ÷
23 

 

A ) 4 B ) 9     
 1     1

 

2 0 6 
)

9 4 
2 0 7 ) D ivide a nd re duce a nsw e r t o lo w e st t e rms. Co nve rt imp ro p e r f ra ct io 

ns t o w ho le o r mixe d numb e rs: 

 5 
4 ÷ 

2 0 7 
)

6 

1 4 5 
A ) 3                B ) 4        C ) 

 

 

D ) 5      

3             5    2 4
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2 0 8 ) D ivide a nd re duce a nsw e r t o lo w e st t e rms. Co nve rt imp ro p e r f ra ct 

io n t o w ho le o r mixe d numb e r: 

3 

8 
 

5 

7 
 

1 0 2                                                                    9  2 1 
A )        B )                                                                                                                                                                                   C ) 4                                       D ) 

4 9 5                                                                    1 0       4 0 
 

 

2 0 9 ) D ivide a nd re duce a nsw e r t o lo w e st t e rms. Co nve rt imp ro p e r f ra ct io 

ns t o w ho le o r mixe d numb e r: 

3 

208)   
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
209)  

 

8  

6 

1 
A )          B)16C)4 

 

 
D ) 

1 

1 6 4   

 
S H O R T A N S W E R . W r i t e t h e w o r d o r p h r a se t h a t b e st co mp l e t e s e a ch st a t e me n t o r a n sw e r s t h e 
q u e st i o n . 

2 1 0 ) F ive b o a rds 3 
 3 

inche s lo ng a re cut f ro m a p ie ce o f b o a rd t ha t is       210) 

4 1 inche s
4 

1 
lo ng . A llo w 
t he p ie ce 

 

 

inch w a st e f o r e a ch cut . W ha t w a s t he le ng t h o f

8 
 

le f t ? 
 

 
M U L TI P L E C H O I C E . C h o o se t h e o n e a l t e r n a t i v e t h a t b e st co mp l e t e s t h e st a t e me n t o r a n sw e r s t 
h e q u e st i o n . 

 

2 1 1 ) E a ch she lf in a f lo o r-t o-ce iling b o o kshe lf ne e ds a st rip o f mo lding 3 2 
3 

inche s
 

212) 

1 6                              A n I- 
5

cut f ro m a le ng t h o f mo lding me a suring 2 2 5       inche s lo ng . I f t he le 
ng t h o f t he 

1 6 
she lf include s t he sa w cut , ho w ma ny she lve s a re in t his b o o kshe lf ? 

A

)

9
B

)
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6C)7D)8 b e a 
 

m me 
a sure 

s 1 4 f 

t lo ng
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. H o w ma ny w ho le 2 1 

f t p ie ce s ca n b e cut f ro m 
1 6 

 

 

211)

 

 
 
 
 
 
 
 
 
 

 

t his le ng t h? 

A)8B)6C)7D)5 

212)
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÷ 

2 1 3 ) Give t he re cip ro ca l o f 
3 

5 5 .                                               
3 5 

 

213)

-528 
A)B) 

2 8 5 

 
 

C)-55D)28

 

 
 

2 1 4 ) Give t he re cip ro ca l o 

f 
 1

8 . 

-1 

A)1B)8 

3 
 

2 1 5 ) Give t he re cip ro ca l o4 f 5         . 
 

 

A ) B4)-4 

 
 

 

C)-8D)8 
 
 
 
 
 
 
 
 

 
C)D) 

2323 

214)      
 

 
 
 
 
 
 
 
 

215) 

 

4

 

2 1 6 ) D ivide a nd re duce a nsw e r t o lo w e st t e rms, co nve rt ing imp ro p e r 
f ra ct io ns t o 

216)     

1   1 
w ho le o r mixe d numb e rs: 

6 2 
1 1

A ) B ) 

1 2 3 

C)12D)3

 

2 1 7 ) T hre e-f o urt hs o f a mile is divide d int   3 mile se g me nt s. H o w ma ny se ct 
o io ns a re 

217)     

8 
 

3 
in t he 4 

 

mile ?

A ) 2 se g me nt s B ) 6 se g me nt s 
 

5 1 

C ) 3 9 se g me nt s D ) 2 se g me nt 
 

2 1 8 ) H o w ma ny 2 
1 

f o o t le ng t hs ca n b e cut f ro m a b o a rd 1 8 f e e t lo ng ? 

4 

218)

1    1 
A)9B)8C)                               D) 
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9 8
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2 
 

2 1 9 ) H o w ma ny p ie ce s o f f a b ric t ha t a re e a ch 1 3 ya rds ca n b e cut f ro m a b o lt t ha t ha s 

 

 

219)

 
 

 
1 0 ya rds o f f a b ric? 

A ) 4 p ie ce s B ) 1 6 
2 

p ie ce s C ) 6 p ie ce s D ) 5 p ie ce s 

3

1 5 
2 2 0 ) A st a ck o f b o o ks me a sure s 2 2 inche s hig h a nd e a ch b o o k is inch t hick. H o w 

 

2 8 

ma ny b o o ks a re in t he st a ck? 

A ) 3 6 b o o ks B ) 1 4 b o o ks C ) 1 3 b o o ks D ) 2 2 b o o ks 
 

2 2 1 ) U se a ca lcula t o r t o divide a nd re duce a nsw e rs t o lo w e st t e 
rms, co nve rt ing 

 

 

220) 
 
 
 
 
 
 
 
 

221)     

 
 

 

imp ro p e r f ra ct io ns t o w ho le o r mixe d 
 

numb e rs: 

1 

1 2 2 
 

1 0 0

 

1 3                                                                     3 1 
A )     B       )                                                                                                                               C )     D )   

8 2 5                                                                  4 0 2 

2 2 2 ) U se a ca lcula t o r t o p e rf o rm t he 
ca lcula t io ns: 

3 1 
3 + 1 

4 2 
 

5-
4

5 
1 1 

A)184B)14 
 

 4 

222)     

C ) 3 5 D ) no ne o f t he a b o ve

 

2 2 3 ) U se a ca lcula t o r t o p e rf o rm t he 
ca lcula t io ns: 

5 3 
3 + 1 

8 4 

2 5 
7       - 1                                                                                                                                                                    B 

223)     
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3 6                                                           A    3                       ) 

)                                               5



35 

 

1 2 9 

1 4 0                                                8                             1 2

C )  7 D ) 9

1                                         1  4 
8                                       8 
4



36 

 

2255 

2 2 4 ) Pe rf o rm t he indica t e d o p e ra t io n, le a ving t he a nsw e r in lo w e st t   e            224)   

rms:  4 -
2 

2     = 
5 3

A ) B
4

)
4    2                                                                2 1 6 

C )          D )   

1545 
 

111 5 
2 2 5 ) T hre e b o o ks me a suring                                                                    1            ,  , a       nd a re p la ce d int o o ne st a ck a nd 

 

 
 
 
 
 

225)

shrink  

2156
 

w ra p p e d. U se a ca lcula t o r t o f ind t he t o t a l t hickne ss o f t he p a cka g e d st a ck. 

1 7 1                                                                     1 1 3 
A ) 1       B ) 2        C ) 3    D ) 1 

2 3       1 5        1 5        3 0 

3                                                              17    
2 2 6 ) U se a ca lcula t o r t o a dd 6 +                                                                                                                     2         +                                                                        . W rit e a nsw e r in lo w e st t e rms                                                                                                                                            226) 

w it h

4312 
 

imp ro p e r f ra ct io ns cha ng e d t o w ho le o r mixe d numb e rs. 

1 1 2                                                                   2 1 1 
A ) 8       B)9 C)9 D)8 

19         3        9         12 
 

2 2 7 ) U se a ca lcula t o r t o mult ip ly a nd re duce a nsw e rs t o lo w e st t 
   9 

 

e rms:1 2 

 
 
 
 
 
 
 

 
7   2 

 

1 6 9 

 

 
 
 
 
 
 
 
 
 

227)

7                                  7                                   1 2 6 

A)126B)96                                               C ) 4                             D )        1,728 
8 

 

2 2 8 ) U se a ca lcula t o r t o mult ip ly a nd re duce a nsw e rs t o lo w e st     9      8 
 3    1      2 

t e rms: 5 6      1 

 

 
 
 
 
 
 

228)

A) 1 
1

B)5                                                         C)D2)16  9

8 4       7 1,68070

2 2 9 ) U se a ca lcula t o r t o mult ip ly, re duce a nsw e r t o lo w e st t e rms a 

nd co nve rt 

imp ro p e r f ra ct io ns t o w ho le o r mixe d numb  e rs:  2  7 5 
5   8 

229)  
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111741 
A ) 7                  B ) 3             C ) 3                D )        7 

4        2 0          4 0         4   0
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2 3 0 ) U se a ca lcula t o r t o mult ip ly, re duce a nsw e r t o lo w e st t e rms a                      230)   

nd co nve rt 
 

imp ro p e r f ra ct io ns t o w ho le o r mixe d numb 

rs: 5 4 7  3 

1117 

A)352B)4412C)362D)4312 

 3 2



 

7 

2 3 1 ) U se a ca lcula t o r t o divide a nd re duce a nsw e r t o lo w e st t e                            231) 

rms, co nve rt ing 
imp ro p e r f ra 5 

ct io ns t o w ho le o r mixe d numb e rs:    ÷

3 3 5                                                                8 3 2 

A)55B)265
 

 

C)735D ) 8  4 

1 1 3

 

2 3 2 ) U se a ca lcula t o r t o divide a nd re duce a nsw e r t o lo w e st t 
e rms, co nve rt ing 

 

imp ro p e r f ra ct io n t o w ho le o r mixe d numb e r: 6 

1 

2 
2 

1 2 2 

A)12B)3C)25D)15 
 

 

2 3 3 ) U se a ca lcula t o r w it h a f ra ct io n ke y t o p e rf o rm t he indica t io n o p e7ra 

t io n: 1 2 5 1 

8 6 
 

235235 

A)9048B)8424C)9024D)8448



 

232)      
 
 
 
 
 
 
 
 
 
 
 
 
 
 

233)
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A nsw e r Ke 

y 

T e st na me : U N T I T L E D 2 
 
 

 
1 ) A 

2 ) C 

3 ) B 

4 ) D 

5 ) D 

6 ) D 

7 ) B 

8 ) D 

9 ) C 

1 0 ) 

B 

1 1 ) 
B 

12)D 

1 3 ) 
A 

1 4 ) 
C 

1 5 ) 

C 

1 6 ) 
B 

1 7 ) 

C 

1 8 ) 

C 

1 9 ) 
B 

2 0 ) 

C 

2 1 ) 

C 

2 2 ) 
C 

2 3 ) 

B 

2 4 ) 
B 

2 5 ) 

A 

2 6 ) 
A
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2 7 ) 

C 

2 8 ) 
B 

2 9 ) 

B 

3 0 ) 

B 

31)D 

3 2 ) 
B 

3 3 ) 

C 

3 4 ) 
C 

3 5 ) 

A 

3 6 ) 

A 

3 7 ) 
C 

3 8 ) 

B 

39)D 

4 0 ) 
B 

4 1 ) 
A 

4 2 ) 

C 

4 3 ) 

A 

44)D 

4 5 ) 

E 

46)D 

4 7 ) 2 in. 
 

4 8 ) 14
1 

in.
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A nsw e r Ke y 

T e st na me : U N T I T L E D 2 
 
 

 

4 9 )13
5

6in. 

1 
5 0    2 in. 
) 

 

5 1 )11
3

6in. 

3 
5 2 ) 3 in. 

4 

5 3 )11
7

6in. 

54)B 

55)D 

56)B 

57)B 

58)D 

59)C 

60)A 

61)B 

62)B 

63)C 

6 4 ) A nsw e rs w ill va ry. 

6 5 ) A nsw e rs w ill va ry. 

66)A 

67)B 

68)A 

69)A 

70)D 

71)B 

72)B 

73)A 

74)A 

75)A 

76)D 

77)B 

78)A 

79)B 

80)B 

81)D
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82)D 

83)C 

84)C 

85)C 

86)D 

87)D 

88)C 

89)C
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A nsw e r Ke y 

T e st na me : U N T I T L E D 2 
 

 
90)C 

91)B 

92)B 

93)A 

94)B 

95)C       5,3,6          

3      1247 
96),      

8 
 

9 7 ) 4 p kg s ho t do g s, 5 p kg s b uns 

9 8 ) 

C 

9 9 ) 
B 

100) 

B 

101) 

B 

102) 
C 

103) 

C 

104) 
D 

105) 

D 

106) 

B 

107) 
A 

108) 

A 

1 0 9 ) A nsw e rs w ill va ry. 

110) 

D 

111) 
A 

112) 

B 

113) 
B 

114) 

C
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115) 

C 

116) 
C 

117) 

B 

118) 

D 

119) 
B 

120) 

B 

121) 
C 

122) 

C 

123) 

B 

124) 

C 

1 2 5
 1 5 

in. 

)           1 6 
 

 

1 2 6 ) T o a dd, yo u ne e d a co mmo n de no mina t o r.

 3 + 5 = 9  + 1  0  = 
 

1 9    o r 1     7

 
46          12121212 

 

127)D 

128)D 

129)D 

 
1 3 0 ) A nsw e rs w ill va ry. 

131)D 

132)B
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A nsw e r Ke y 

T e st na me : U N T I T L E D 2 
 
 

133)B 

134)B 

135)D 

136)C 

7 
137)21 

8 
138)B 

139)A 

3 1 
140)1 

6 4 
141)C 

142)D 

143)A 

144)A 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 9                2
1 4 5 ) Sma lle st : 3 

3232 
, L a rg e st : 3

 

 
1 4 6 ) Sma lle st : 8 

7                         9 
, L a rg e st : 8 

3232
 

1 4 7 ) B o rro w ing is re q uire d. 

12    3494 5 
2   -1      =  2    -1=       1     -1= 

2 3                 165)B 
 

148)A 166)B 

149)A 167)D 

150)C  

151)A  

152)A  

153)D  

154)A  

155)B  

156)A  

157)D  

158)D  

159)C  

160)D  

161)C  

162)B  

163)D  

164)C  
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66666 

1 6 8 ) 5 8 
1 

in
2 

2 

1 6 9 ) 1 080 
3 

in.



40 
 

A nsw e r Ke y 

T e st na me : U N T I T L E D 2 
 

9 
1 7 0 ) 2 0 

 

in.

1 6 
171)D 

172)A 

173)A 

1 7 4 ) A nsw e rs w ill va ry. 

1 7 5 ) A nsw e rs w ill va ry. 
4 

1 7 6 
 

 

9 

17764 
) 

1 

6 4 
1 7 8 

)          8 

1 2 

179      5 
) 

7 

180)19 

2 1 

181)425 

182)D 

183)A 

184)C 

185)D 

186)C 

187)B 

188)C 

189)C 

190)C 

191)B 

192)A 

193)B 

194)A 

195)C 

196)A 

23 
197)    
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5 5 

198)C 

199)1 

200)C 

201)D 

202)D 

203)B 

204)B 

205)C
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A nsw e r Ke y 

T e st na me : U N T I T L E D 2 
 
 

 
206)B 

207)B 

208)D 

209)A 

5 
2 1 0 ) 2 1 in. le f t 

8 
211)C 

212)B 

213)D 

214)D 

215)D 

216)B 

217)A 

218)B 

219)C 

220)A 

221)A 

222)B 

223)B 

224)D 

225)C 

226)B 

227)B 

228)D 

229)B 

230)B 

231)A 

232)C 

233)A
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